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REPRESENTING NUMBERS ON THE NUMBER LINE: THE VECTOR

We call positive and negative numbers Signed numbers. For example, - 7 hasthe negative signin
front and + 9 has the positive sign in front.

In Section 1.1 you were introduced to the new definition of number:

Every number has both value and direction.

We can represent this new notion of number using alinear length—representing the numerical value of
the number—and an arrow—representing the direction of the number. Thislinear length iscalled a
vector, and though it has both value (length) and direction (l€ft or right) it doesn’'t have a specific starting
point. To represent anumber’s place on the number line with avector, we' |l need to start the vector at the
origin, O.

One gpecial note: 0 (zero), as avector, has no length and no direction. In other
words, 0 is neither positive nor negative.

Example 1: Represent each number as a vector.

a thevector for +5 hasalength of 5, starting at 0, and points to the right:

+5

I
I
|
|
0

b) thevector for - 6 hasalength of 6, starting at 0, and pointsto the | eft:

|
1
|
|
0
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Exercisel Use the number line below to represent the given number as avector with both a
linear length and adirection. For each of these, start every length at the origin, O.

8 -3
I

I I I I I I I I I I I I I I I I I

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
by +7

L

I I I I I I I I I I I I I I I I I

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
o +2

I I L I I I I

I I I I I I I I I I I I I I I I I

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
9 -1

| | L | | | |

I I I I I I I I I I I I I I I I I

-8 -/ -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
e -8

I I I I I L I I I I I I

I I I I I I I I I I I I I I I I I

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
) -4

| | | | | | | L | | | | | | |

I I I I I I I I I I I I I I I I I

-8 -/ -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
g9 +3

| | | | | | | [ | | | | | | |

I I I I I I I I I I I I I I I I I

-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8

A vector that represents a certain number, say +5, must aways have the same length and direction.
For example, + 5 will always have alength of 5 (its numerical value) and point to the right (becauseit is
positive). However, vectors are allowed to have different starting points.
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For example, we know that the vector representing + 5 has alength of 5 and pointsto theright. If that
vector starts at + 3 (on the number line) it will still have alength of 5 and point to the right. That would
look like this:

+
> >

o +

|
I
I
8 7 6 5 -4 -3 2 -1 1 2 3 4 5 6 7

Notice that the vector startsat + 3 and extends 5 spacesto theright. Notice, also, that it endsat 8.
Y ou might guessthat thereason it endsat 8 isbecause 3 + 5 = 8, and you'd beright!

Example 2: Represent each number as avector, starting at the given point. State where the vector
stops.
d Represent +4 startingat - 1 b) Represent -6 startingat + 8
c) Represent +3 startingat -7 d) Represent -2 startingat - 4
Answer Represent each number as a vector having length and direction (left or right).
a) Thevector for +4 hasalength of 4 and pointsto theright; hereitis, startingat - 1.
I +4 p Itstopsat +3.
| | | | | | | | I | | | | | | | |
I I I I I I I I I I I I I I I I I
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
b) thevector for - 6 hasalength of 6 and pointsto the|eft; hereitis, starting at + 8.
It stopsat + 2. < -6 |
| | | | | | | | I | | | | | | | |
] ] ] ] ] ] ] ] I ] ] ] ] ] ] ] ]
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
c) Thevector for +3 hasalength of 3 and pointsto theright; hereitis, startingat - 7.
|;3> It stopsat - 4.
| | | | | | | | I | | | | | | | |
I I I I I I I I I I I I I I I I I
8 -7 6 5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
d) thevector for - 2 hasalength of 2 and pointsto theleft; hereitis, starting at - 4.
-2 _
< | It stopsat - 6.
| | | | | | | | I | | | | | | | |
I I I I I I I I I I I I I I I I I
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
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Exercise 2 Use the number line below to represent the given number as avector with both a
linear length and adirection. Start at the given value, and state where it stops.
a Represent - 3, startingat + 5.
| | | | | | | [ | | | | | | |
] ] ] ] ] ] ] ] I ] ] ] ] ] ] ] ]
8 -7 6 5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
b) Represent +7, starting at - 4.
| | | | | | | [ | | | | | | |
] ] ] ] ] ] ] ] I ] ] ] ] ] ] ] ]
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
Cc) Represent +2, starting at - 3.
| | | | | | | [ | | | | | | |
] ] ] ] ] ] ] ] I ] ] ] ] ] ] ] ]
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
d) Represent -5, startingat - 2.
| | | | | | | [ | | | | | | |
] ] ] ] ] ] ] ] I ] ] ] ] ] ] ] ]
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
€ Represent -8, startingat + 4.
| | | | | | | [ | | | | | | |
] ] ] ] ] ] ] ] I ] ] ] ] ] ] ] ]
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
f)  Represent - 4, startingat - 3.
| | | | | | | I | | | | | | |
I I I I I I I I I I I I I I I I I
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
g) Represent + 3, startingat + 5.
| | | | | | | [ | | | | | | |
] ] ] ] ] ] ] ] I ] ] ] ] ] ] ] ]
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
To top of page
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ADDING SIGNED NUMBERS ALONG THE NUMBER LINE
We can use the number line to add numbers. For example, toadd 3 + 5 we construct:
1) avector for 3 (redly, + 3) that starts at the origin, O
2) avector for 5 (redly, + 5) that startsat 3 (where thefirst vector stopped).

+
+3 I > >

|
|

8 -7 6 5 4 3 -2 -1 1 2 3 4 5 6 7 8
+ 8.

Thesum s

It doesn’'t matter if the numbers we are adding are positive or negative. Each number can be
represented as a vector having alength and adirection. To add them, smply follow these guidelines.

Adding two numbers using the number line.
1) Draw (or think of) avector for the first number, starting from the origin, O.

2)  Draw (or think of) avector for the second number that starts where the first vector
stopped.

3)  Thenumber at which the second vector stopsis the sum.

For example, we can add + 3and - 5, by first showing the vector for + 3 (which will start at 0); then,
from + 3 we can draw the vector for - 5 (which pointsto the left). Where the second vector stops, that is
the sum:

< I

8 7 6 5 4 -3 -2 -1 1 2 3 4 5 6 7 8
Thesumis - 2.

By theway, thesumof +3 and -5 iswritten 3 + (- 5). Noticethe parentheses around the- 5; in
this case, the parentheses are acting as separators, separating the plus sign (+) from the negative sign in the
number - 5.

We don't really need the parentheses; without them, it would look likethis: 3 + - 5. Thisisn’t so bad
when it’s printed out, but when written by hand, it can sometimes be allittle confusing. So, we use the
parentheses for clarity.
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Example 3: Represent the sum by drawing two vectors. Use the guidelines for “adding two
numbers using the number line.”

a 4+ (-1 by -6+ 8
0 3+ (-7 d -5+ (-2
Answer Represent each number as a vector having length and direction (left or right).
a Thevector for +4 hasalength of 4 and pointsto theright; thevector - 1 hasalength of 1tothe
| eft.
-1
. +4 — Thesumis+ 3.
| >
| | | | | | | | I | | | | | | | |
] ] ] ] ] ] ] ] I ] ] ] ] ] ] ] ]
8 -7 6 5 4 -3 -2 -1 1 2 3 4 5 6 7 8

b) -6 hasalength of 6 and pointsto theleft; + 8 hasalength of 8 and pointsto the right.

I +8
| > _
< -6 | Thesumis+ 2.
| | | | | | | | I | | | | | | | |
I I I I I I I I I I I I I I I I I
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
c) +3 is3totheright; -7 is7totheleft.
-7
- I
Thesum is- 4. I 3 5
| | | | | | | | I | | | | | | | |
] ] ] ] ] ] ] ] I ] ] ] ] ] ] ] ]
8 -7 6 5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
d) -5 is5totheleft; -2 is2totheleft.
<L| -5
- I Thesumis- 7.
| | | | | | | I | | | | | | | |
] ] ] ] ] ] ] ] I ] ] ] ] ] ] ] ]
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
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Exercise 3 Use the number line above each set to help you evauate the following. Y ou may use
the same number line for two different sums.
| | | | | | | | | | | | | | | | |
I I I I I I I I I I I I I I I I I
8 7 6 5 4 -3 -2 -1 0 1 2 3 4 b5 6 7 8
a 3+ 4= b) -6+ (-2 =
| | | | | | | [ | | | | | | |
I I I I I I I I I I I I I I I I I
8 7 6 5 4 -3 -2 -1 0 1 2 3 4 b5 6 7 8
c) 8+ (-3 = d 2+(7-=
| | | | | | | | | | | | | | | | |
I I I I I I I I I I I I I I I I I
8 -7 6 5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
€) -3+ (-1 = f) -8+ 7 =
| | | | | | | | | | | | | | | | |
I I I I I I I I I I I I I I I I I
8 -7 6 5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
0) -3+ 6 = h) 6+ (-6) =
| | | | | | | | | | | | | | | | |
I I I I I I I I I I I I I I I I I
8 -7 6 5 4 -3 -2 -1 0 1 2 3 4 5 6 7 8
i) -4+ 4 = ) 0+ (-7) =
| | | | | | | | | | | | | | | | |
I I I I I I I I I I I I I I I I I
8 7 6 5 4 -3 -2 -1 0 1 2 3 4 b5 6 7 8
K) -2+ 0= ) -3+9=
| | | | | | | | | | | | | | | | |
I I I I I I I I I I I I I I I I I
8 7 6 5 4 -3 -2 -1 0 1 2 3 4 b5 6 7 8
m) -4 + (-3) = n) 5+ 2=
To top of page
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FINDING SUMS MENTALLY

Asyou have seen, and tried, the sum of two numbers can be found using the number line and drawing
vectors. Thistime, find these sums mentally by drawing the vector with your mind and not your pencil.
Try to visualize the number line and in which direction the vectors would go.

‘Exercise4 Try to use amental number line to evaluate the following.

d 5+8= by -10+(-6)=
0 1B3+(H= d 2+(¢109=_
) -6+ (-6) = f) -r+7=
)] -4+ 1= h) 10 + (-100 =
i) -9+ 9= ), 0+ (1= __
K -2+0= ) -13+9=
To top of page

THE COMMUTATIVE PROPERTY

The Commutative Property of Addition worksfor integers aswell as for whole numbers. Y ou will
recall that the Commutative Property of Addition alowsthesum 3+ 5 to berewrittenas 5+3. The
sameistrue for signed numbers. For example, 2 + (- 7) canbewrittenas -7 + 2. They are both
equal to - 5:

2+ (-7):
- ! . |
+
Thesumis - 5. F—>
I I I I I I I I I I I I I I I
I I I I I I I I I I I I I I I I I
-8 -/ 6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
-7+ 2:
| +2 I
-7 Thesumis - 5.
- I
I I I I I I I I I I I I I I I
I I I I I I I I I I I I I I I I I
-8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8
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Example 4 Rewrite each sum using the Commutative Property. Then, evaluate the original sum
and the new sum.
a 4 +(-1) by -6+ 8
c 3+ (7 d -5+5
Answer: ad 4+ (-1)=-1+4 b) -6+ 8=8+ (-6)
They both = +3 They both = +2
¢ 3+(-7=-7+3 d -5+5=5+ (-5
They both = -4 They both = 0
Exercise5 Rewrite each sum using the Commutative Property. Then, evaluate the original sum
and the new sum.
a) -10 + 3 = b) -12 + (-4) =
They both = They both =
C) 11 + (-8) = d) 4+ (-9 =
They both = They both =
€ -4+ (-11) = f) -9+ 15 =
They both = They both =

To top of page
FINDING SUMS USING “AND”

Y ou will shortly be introduced to adightly different way to think of adding two integers. We'll not
leave the number line, at least not mentally. Y ou are encouraged to always consider the number line when
adding two signed numbers.

First, though, we' re going to use a specid, yet quite ssmple, word to express addition; it isthe word
“and.” We canthink of thesum 3+5 as “3and5.” Thisimpliesthat we need to use the vectors for
+3 and for +5 to come up with the sum.

Thesameistruefor thesum -6 + (- 4): think of thisas“- 6 and - 4.” Here we need the vectors

for -6 andfor - 4. Also, the commutative Property says that it doesn’t matter which of the two vectors
we usefirst. With thisin mind, we can add the numbers mentally.
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Example 5: Write each sum using the word “and,” then evaluate the sum. For positive numbers,
write the plus sign (+) in front of them.

a 7 +(-3 by -6+ 9
o 5+ (-8 d -7+7

Answers:. @ 7 +(-3) canbewrittenas +7and-3 Thesumis+4
by -6+9 can bewrittenas -6and +9 Thesumis+3
¢ 5+ (-8 canbewrittenas +5and-8 Thesumis-3
d -7+7 can bewrittenas -7 and +7 ThesumisO

Exercise 6 Rewrite each sum using the word “and,” then evaluate the sum. For positive

numbers, write the plus sign (+) in front of them.

a -10+6 can be written as Thesumis
b) 7+ (-9 canbewrittenas Thesumis
c -1+5 can be written as Thesumis
d -5+ (-7 canbewrittenas Thesumis
g -6+5 can be written as Thesumis
fy 12 + (-6) canbewrittenas Thesumis
0) 8 + (-8) canbewrittenas Thesumis
hy -3+ 3 can be written as Thesumis

Adding Integers page 1.2 - 10



Y ou have been given avariety of techniques to add two signed numbers:

(1) You canthink of numbers as vectors and use the number line to
visualy find the answer;

(2) you can think about vectors and the number line—without actually
drawing the vectors—to find the answer;

(3 you can use the commutative property, if that is helpful;
(4) you can think of a sum using the word “and.”

Exercise 7 Use the variety of techniques presented to add these signed numbers. A number line
is provided here for your convenience.

L L L L L L L L L 1 T
-16 -14 -12 -10 -8 -6 -4 -2 2 4 6 8 10 12 14 16

a) 10+3= : b) -10+ (-3) =
0) 11+5= d) 11+ (-5) =
) 1B+4= f) 13+ (-4 =
0) 9+1= h) -9+ ()=
i) -8+2= j) T+ (4H=_
k) -3+6= 1) 2+ (-9=_
m) -7+9= n) 9+ (-6 =
0) -30 + 14 = p) 53+ (-33)=
q) -16 +42 = r) 28 + (-51) =
S) 27+ 3= f) 36+ (-61) =
u) 12+ (29 = v) -46 + (-18) =
w) -32 + (-43) = X) -53 + (-37) =
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At this point, if you feel confident that you know how to add signed
numbers—and if your instructor allows—skip to the Focus Exercises. If,
instead, you fedl as though you need some more instruction, please keep
reading and follow the rulesfor adding signed numbers.

To top of page

IDENTIFYING PATTERNS

By now you should have a sense of how to add integers (signed numbers) along the number line.
However, some integers are large enough in value that placing them on anumber line can be a bit difficult.
For example, to evaluatethesum - 23 + 48 would be a challenge along the number line.

We need to develop some rules for adding signed numbers that have large values. These rules, though,
will need to be consistent with our understanding of how to add small-vaued integers. We' Il develop the
rules using smaller numbers and the number line.

Rule 1: Thesum of two numberswith the same sign

When finding the sum of two numbers of the same sign, add their
numerical values together and give the result that same sign.

The sum of two numbers with the same sign—same direction—is alarger number that has the same
direction (same sign).

The sum of two positive numbersisalarger positive number. That is because they have the same
direction. So, when adding, for examples, +8 + 5 (+ 8 and + 5), the vectors take you further to the
right, further away from O in the positive direction. Theresult isalarger positive value.

+8 ' 5 >

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

Thesumis + 13.

The sum of two negative numbersisalarger negative number. Again, that is because they have the
samedirection. So, when adding, for examples, -7 + (- 8) (- 7 and - 8), the vectorstake you further to
the left, further away from O in the negative direction. Theresultisalarger negative value.

- -8 |

-5 -14 -13 -12 -11 .10 9 8 -7 -6 -5 -4 -3 -2 -1 1

Thesum s - 15.
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Example 6: Use Rule 1 to find the sum of each of these.

a +7+4 by +6 + 9 c +12 + 26
d -5+ (-8 e -7+(-3 fy -35+ (-52
Answers: a +7+4=+7and + 4. alarger positive number, namely + 11.

by +6+9=+6and +9 = +15 (alarger positive number)
) +12+ 26 =+12 and + 26 = +38 (alarger positive number)
d -5+ (-8 =-5and -8 alarger negative number, namely - 13.
e -7+ (-3)=-7and-3=-10 (alarger negative number)
fy -35+(-52) =-35and -52 = -87 (alarger negative number)

Exercise 8 Use Rule 1 to find each sum. 'Y ou encouraged to write the sum using the word and as
demongtrated in Example 6.

a) +1+ 8= b) +2 + 17

) +12+ 6= d +20+9

e  +15 + 29 fy  +43 + 86

)] +36 + 68 h) +8lL + 75

) -5+(-2= o -4+ (1)=
kk -16+(-3= ) -5+ (-20=
m -2+ (-46) = n -3+ (15 =
0 -52+(-39= pp -9+ (-8)=
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Rule2:  The sum of two numbers with opposite signs

When finding the sum of two numbers with opposite signs,
subtract their numerical values and give the result the sign of the
addend with the larger numerical value.

The sum of two numbers with opposite signs—opposite directions—is a number closer to O; that
resulting number has the same sign (same direction) as the addend with the larger numerical value.

For example, if weareto findthesumof +8 + (- 5), we can draw two vectors,
one “stretching” away from 0O (zero) to the right, and the other bringing it back toward
zero (heading left), but not all the way back to O.

Thesumis + 3. < I

Another example: if weareto find thesumof -7 + 3, we can draw two vectors,
one “stretching” away from O (zero) to the left, and the other bringing it back toward
zero (heading right), but not al the way back to 0.

+3
p———> ; Thesum s - 4.
< - i
| L L L L L | L L
I I I I I I I I I I I I I I I I I
-8 -/ -6 -5 -4 3 2 -1 1 2 3 4 5 6 7 8

The commutative property of addition allows usto write asum in any order. For the sake of
understanding this rule, we could rewrite any sum so that the larger valued number is written first.

So here are the guidelines for finding the sum of two numbers with opposite signs.

(1) Rewritethe addends so that the number with the larger valueisfirst

(2) Thesign of thefirst number will be the sign of the result, so you could write the sign
of that number in front of your answer (even if it ispositive); in other words, decide

whether the answer will be positive or negative before writing the full answer.

(3) Subtract:  larger vdue—smaler value  to find the resulting value .
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Example 7: Find the sum of each of these. Notice that the addends have different signs.

a +7+ (-5 b) +6 + (-8) c +12 + (-38)
d -5+14 e -7+ 19 fy -35+ 29
Answers: Follow the guidelines of Rule 2 to find the sum.
a +7+ (-5 =+2 The larger-valued number is already written first: + 7 and - 5

The larger value is positive, so the result will be positive as well.

Their difference; 7—-5 = 2, sotheresultis + 2.

by +6 + (-8) =-2 Thiscould berewrittenas -8 + 6: -8 and + 6
The larger value is negative, so the result will be negative as well.
Their difference: 8—6 = 2, sotheresultis - 2.

c +12 + (-38) =-26 Thiscould be rewrittenas  -38 + 12: -38 and + 12
The larger value is negative, so the result will be negative as well.
Their difference: 38— 12 = 26, so theresult is - 26.

d -5+4=-1 The larger-valued number is already written first: -5 and + 4
The larger value is negative, so the result will be negative as well.
Their difference: 5—-4 = 1, sotheresultis - 1.

e -7+ 19=+12 Thiscould berewrittenas 19 + (-7): + 19 and -7
The larger value is positive, so the result will be positive as well.
Their difference: 19—-7 = 12, sotheresultis + 12.

fy -35+29=-6 The larger-valued number is already written first: - 35 and + 29

The larger value is negative, so the result will be negative as well.

Their difference; 35—-29 = 6, sotheresultis - 6.
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Exercise 9 Use Rule 2—the sum of two numbers with opposite signs—and the guidelinesto find

each sum. Y ou may show any work below each problem. Y ou encouraged to write
the sum using the word and as demonstrated in Example 7.

a) -1+8= b) -5+ 2=

9 +2+ (7= d +9+ (2=
e) -9+2=_ f) -3+ 6=

0) +4+ (-100= h) +7 + (-6) =
) -3+2= ) -7+ 12 =

K) +12+ (1= ) +34 + (-20) =
m) +15+ (-299 = n) +86 + (-42) =
0) -18+42= 9)] -36 + 52 =
Q) -3+ 46 = r -92 + 15 =
To top of page

Adding Integers page 1.2 - 16



Exercise 1:

Exercise 2:

Exercise 3:

Exercise 4:

Exercise5:

Exercise 6:

Exercise 7:

Adding Integers

(The answersto Exercise 1 are not given.)

(The answersto Exercise 2 are not given.)

F2) 7
2) -4
i) 0
m -7
a) 13
e -12
i) 0

Answersto each Exercise

Section 1.2

b) -8
f) -1
N -7
n +7
b) -16
f) -5
) -15

a 3+ (10 =-7
¢ -8+ 11 =+3
e -11+ (-4 =-15

ad -10 and +6 thesumis -4
) -1and +5 thesumis +4
€ -6and +5 thesumis -1
g +8and -8 thesumis O

a +13
e +17
i) -6
m +2
qQ +26
uy -41

b) -13
fy -17
) +3
n +3
N -23
v) -64

9)
K)

9)
K)

b)
d)
f)

b)

+5
+3

+9
+7
-22

d -5
h 0
) +6
d -8
h 0
N -4

-4+ (-12) = -16

“9+4=-5
15 + (-9) =

+6

+7 and -9 thesumis -2
-5 and -7 thesumis -12
+12 and -6 thesumis +6
-3 and +3 thesumis O

+16
+20
+3
-16
+4
- 75

d -16
h) -20
1) -3
p) + 20
) -25
X) -90
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Exercise8:

Exercise 9:

To top of page

Adding Integers

e +44
i) -7
m) -68
a +7
2) -7
i) -1
m -14
q -27

by +19
f) + 129
) -16
n -49
b) -3
f) +3
) +5
n +44
n -77

c +18
g + 104
ky -19
o -91
C) -5
g -6
K) -5
0 +24

d)
h)

P)

d)
h)

p)

+29
+ 156
-35
- 180

+7
+1
+ 14
+ 16
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Section 1.2  Focus Exercises

1.  Usethisnumber line, as necessary, to help you evauate the following.

0
ad 3+4= b) -5+ (-1 = 0 -4+ (3 =
d -2+ (-5 = § -1+(6)= fy -8+8-=
g -4+8-= hy 5+ (-5 = iy -8+ 10 =
) 0+ (-3 = k§ -6+0-= ) -6+ 12 =

2. Usethevariety of techniques presented to add these signed numbers. A number lineis provided here
for your convenience.

| L L L I O
-16 -14 -12 -10 -8 -6 -4 -2 2 4 6 8 10 12 14 16

ad -10+3= b) -1+211): 0 -11+5=
d -3+ (-15) = e -13+ 14 = fy -3+ (-14) =
g9 19+1-= hy -9+ (-11) = iy -8+ 12=
) 17+ (-4 = Ky -3+ 16 = ) 2+ (-15) =
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3.  Rewrite each sum using the Commuitative Property. Then, evaluate the original sum and the new sum.

a) -7+ 6 = by -8+ (-2

0 3+ (-10)

d) 9+ 6=

4.  Find each sum. Y ou may use any technique presented in this section.

8 -21+8-= b) 14 + (-29) = © -18 + 36 =
d 20+ (-19) = e -15 + (-40) = f) -68+ (-23) =
g  -42 + 91 = h) -53+ 37 = ) -57 + (-63) =

5. Find each sum. Theserequire alittle more thinking.

a) -52 + 83 = by -.58 + (-.82) = c 16+ (-79) =
d) -38 + 14 = € 46 + (-38) = fy -28+ (-059 =
To top of page
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